OMRON
# \/680S-HMD6/_-EIP

RFIDY AT L J—EZ144
RFID System Reader/Writer

| HiREHPIE/INSTRUCTION SHEET |

OV AFRGEESEVLEFOLLEZELTEILHYHFEITEVET,
CHERICEL TR ROARE H5F1) < £30,

- BROMBEHTHFMIRH BIIEL 1280,

- COBRBAE & L <ERA I A B ICTEBOS L IEL SREA S,
+ CORBHAFEBVOOTH FEBLIANREL TS,
CEHBICOZRE LT Y-V a TN ETBR LS,

Thank you for selecting OMRON product. This sheet primarily describes pre-
cautions required in installing and operating the product.

Before operating the product, read the sheet thoroughly to acquire sufficient
knowledge of the product. For your convenience, keep the sheet at your disposal.

TRACEABILITY INFORMATION:
Importer in EU Manufacturer
Omron Europe B.V. Omron Corporation,
Wegalaan 67-69 Shiokoji Horikawa, Shimogyo-ku,

2132 JD Hoofddorp Kyoto, 600-8530 JAPAN

The Netherlands
pate IR
ALOVHRAEHE “8200287-6B*

© OMRON Corporation 2015 All Rights Reserved.

RELTDES

HRERSIMERAT 370 LITDIEETFT TSN,
1. BB HLPREZAICDONT

c RHMBOZOMER (E—2 MU ABRBOES ) DRSS
BB TLZR L,

- BHOU—E 51 2EERBINSHE B THICLU SR
ETIEBRNPHETDT.[VE80S - )—F 518 1—H—X
=27V (Man.No.SDGR-710) |0 [U—4 51 2DEEFi5 458
U =451 2B DR E T Hh 8O EERERBL TR,

2. Bt - BALICDWT

- AC TR CIHAIERALAV TRV R T 2B/ HBUET,

- BBEHRL AW TSV R VBT 2NN B ET

« Ethernet 7—JIVEIEHES 5 EAIAER (X1 v F /7% PLC %&)

13 STP X ICHEERE B O £, EAIHEEREFREIC D IBEHL <230,
3. ERAEICDONT

- =7 IVEHAE 40mm BUT THIF AU TREV BRI D HUET

- A BRICEEEBUARCIE, $CCEAERIEL. BRI/ £ T
L FHE - BERFTIERUIAN,

- (—#)BA%XAR SAT LBEDHAIRFAAREN 7T F EREHER
AHBEUDIEAN—ZA—HEDEFEERIHS 22cm LIRISE S50
&,

4. BRICONT

C UL = N TN AT RO s — X B R ICE R EE R
ETHBAPHIET A - X727 ILO[MHERM | 4S8
DHBEBIMERLLENTEE,

5. BEEIZDWT
- RBRERET MR EEREEMEL TAIBL TEEL,

|  PRECAUTIONS FOR SAFE USE |

Observe the following precautions to ensure safe usage of the
product.
1. Installation and Storage Environment

-Do not install the Products near any equipment that generates
a large amount of heat (such as heaters,transformers, and
large-capacity resistors).

-If many Reader/Writer are mounted near each other,
communications performance may decrease due to mutual
interference. Refer to Reference Data in Section 7
Appendices of User’'s Manual and check to make sure there is
no mutual interference.

2. Installation and Removing

Do not use the AC power supply.

Do not perform wiring incorrectly. Doing so may result in
rupture or damage from burning.

-Use a device supporting STP cables for the host device (such
as an Ethernet switch or PLC). Ground the host device to a
ground resistance of 100 Q or less.

3. Using

Do not bend the cable past a bending radius of 40 mm. The
cable may be disconnected.

«If you find an abnormal operation of the product, immediately
stop its operation and turn OFF the power supply. Consult
with an OMRON representative.

4. Cleaning

-Using thinner, benzene, acetone, or kerosene for cleaning may

affect the resin parts and the surface of the case.
For detail,refer to the Chemical Resistance in the User's
Manual.
5. Disposing
-Dispose of the Products as industrial waste.

FALDEE |

1. %14 HE/Rating performance

F7u2v/Flat washer N\

M4tL/M4 screw

1. Hold the supply cable connector,
and insert the

CRBHIVREBICOVT

ROIHIBIBARTIHER B LTRELBNTEEL,

CBINMAR BRMEAXBRIESX ER. 2B AN HBEFITIE
ERBLTRELLEVTZE,

- AFERE. AEEENS HETEDSN T\ B5E B2 D157 CldEH
BLVRELEVTLEEL,

REFRBICELT 25 BT S CRERSSIURELEN TS
&,

- EETEDSND L EDIREEH LD A MBI EEEH DGR CEER
BLURELLVTEELY,

2. B - BALICDWT

< ABRIE 13.56MHz DEIEEHEERL T RF 27 EXEEToTVET,
LY —IN =R A N—8 Ay F LT BREEDHIZIE RF 27¢&

ZENRERICEDIFGEN HIET NSO DIT CARBLREZHBAIC
LHGEIIFENICHEAHRO L ERVEEIIC BBV ELE
ED

- )—451%% RUN E—RTEIES Y 3155 13 HIMESEERD +24V
(ZHHGEL T8V IS B2 BIRD OV (LT 3L -4 51213t
—JE-RTHEELET,

- EAREEESEEEBA TERLEVTUEEWBRIRL ) RIBL Y § 52
W HET,

- UG AFER I BEEORURLDHNLTIE 1.2N - m EL T,

< =T NARTEORDHHINL713.0.39 ~ 0.49N - m THEEIZE)
FHFTLEEL,

© 2R T M4 U TLonHEIEL TERL T,

3EAAEICDONT

- BRAFEETIRENTER,

- =T IVEBIEAECE [ DER OBV TL ALY,

- ARRONE - BIRUREEL VTSN,

SHP BRI D BERE CERING S ERIN S HI R RA
HIERL TV IEAN DR BN L ZER IR A,

4. 8RICDONT
- A% - EHING SARE A,

| PRECAUTIONS FOR CORRECT USE |

. Installation and Storage Environment
Do not use or store the Product in the following locations.
. L?toations subject to corrosive gases, dust, dirt, metal powder, or
salt.
- Locations where ambient temperature or ambient humidity range
is over the specified.
- Locations subject to extreme temperature changes that may
result in dew condensation.
- Locations where the product would be directly subjected to
vibration or shock exceeding specifications.

-

2. Installation

+ The Products communicate with RF Tags using the 13.56-MHz
frequency. Any transceivers, motors, inverters, or switching power
supplies generate noise that can affect communications with the
Tags and cause errors. If such devices are located near the Tags,
always test operation in advance to confirm whether the system
may be affected.

*When you use the Reader/Writer in RUN mode, the control
signal should be connected to the +24 V of the power supply
the Reader/Writer will operate in safe mode when the control
signal is connected to O V of the power supply.

*Do not exceed the rated voltage range. Doing so may result in
Product destruction or burning.

-Securely tighten the screws to a torque of 1.2N-m when
mounting the Reader/Writer.

+Use a tightening torque of 0.3 to 0.49N-m when mounting the
cable connector.

Please fix the branch cable with M4 screws tightly.

3. Prohibitions

*Do not drop the Products.

Do not pull on the cables with excessive strength.

Do not attempt to disassemble, repair, or modify the Procuct.
-If the Reader/Writer is installed in an environment where oil is
splashed, please confirm that there is no oil impact to the resin
that is used in the Reader/Writer.

4. Maintenance
*The Reader/Writer must be inspected on a daily or regular basis.

2. KB IZD\W T /Installation
M V680S-HMD63-EIP

M4hL/M4 screw

2SI T l
Spring washer
&
\ &
F79%v/Flat washer ‘
.
<

B V680S-HMD64-EIP

M4fL/M4 screw

BUFAMI T &
Mounting Hole Dimensions

2-M4

AF 7RI TF %/ Mounting Hole Dimensions:

65+0.2 4-M4
ATV T i
Spring washer °

H V680S-HMD66-EIP

ZTVLT Ty
Spring washer

ERDEINRT VLT TS w EF Ty v & ZERD L MAaUAE
(V680S-HMD63-EIPD5E 1+ 21E) THUHI TS,
HELRAFHIILT 1.2 Nem

Mount the Reader/Writer with four M4 screws (two M4 screws for
V680S-HMD63-EIP) with spring washers and flat washers as shown
above. Recommended tightening torque: 1.2 N-m

W V-5 512E5—T VDK /5 7%/ Attaching Reader/Writer to the cable

U= S SMERIRIE
(M12 A-Coding # X )
Power connector (Reader/Writer side)
(M12 A-coding plug)

e T NREIR TS
T-TLABRART S Power connector (Cable side)

Power connector (Cable side)

O BRT—7NDAXI2EH-T)—4 @ BRI —TNDOIXI 2D EVERETAEIC

FMENBRIAFVAFEAL TS, ALTEYIL TS,
HEERIMNL7:0.39~0.49N'm

2. Tum the threaded portion of the supply
clable connector clockwise to lock it in
place.
Recommended tightening torque: 0.39 to
0.49 N*m connector.

e cable connector
into the Reader/Writer supply
connector.

=454 54 Ethemet 27545
(M12 D-Coding * 2 )
Ethernet connector (Reader/Writer side)
(M12 D-coding socket)

47— 7 V{8l Ethernet :/z%
Ethernet connector (Cable side)

4 — 7Vl Ethernet 2% 7 2
Ethernet connector (Cable side)

@ Ethemetr —7 V032 74%#-T @ Ethemetr —7 VDX 2038k S

MEICEL TAYIL T,

-5 8DBEAZIXAEALT
' HESERHT ML 7:0.39~0.49N-m

{280,
3. Hold the Ethernet cable connector, 4. Tumn the threaded portion of the Ethernet

and insert the  cable connector
into the Reader/Writer Ethernet
connector.

cable connector clockwise to lock it in
place.

Recommended tightening torque: 0.39 to
0.49 N*m connector.

B S —7 VOEEHE/Fixing the branch cable

M4hL/M4 screw

ERDEIS MARL BT TR,

HERRE ML 7:0.39~0.49N-m

Mount the branch cable with M4 screw as shown
left.

Recommended tightening torque: 0.39 - 0.49N*m

Dielectric strengh

57./Model 11#%/Specifications
1E8H/Item V680S-HMD63-EIP V680S-HMD64-EIP V680S-HMD66-EIP
S, 50X50x30mm (REF#ERC) 75X75X40mm (REEHERRC) 120X 120X40mm (REHES)
Dimensions (excluding protruding parts) (excluding protruding parts) (excluding protruding parts)
EREE 24 VDC (-15% to +10%) Class2
Supply voltage
HEER 0.2A max.
Consumption surrent
{EFREERE -10 to 55C (kighEzy)
Ambient operating (No freezing)
temperature
{EFREEIRE 25 to 85%RH (fEF#AaEIL)
Ambient operating (No dew condensation)
humidity
RIFEIERRE 25 to 70°C (kithEze)
Ambient storage (No freezing)
temperature
RIFEIEIRE 25 to 85%RH (fEB/AE2L)
Ambient storage (No dew condensation)
humidity
BRI =7 —§EEr — X T20MOLLE (DC500VAEFHEIMATZT)
Insulation resistance | 20MQ min. (with 500 VDC megohmmeter) between cable terminals and casing
HEE AC1000V (50/60Hz) 1438 r—7 IV —iE&r—2[E

1000VAC,50/60Hz,1min  between cable terminals and casing

Vibration resistanse

10~500Hz R IE1.5mm. AR 100m/s2, 341611431085
10 to 500 Hz, double amplitude: 1.5 mm,Max. Acceleration: 100m/s2, with 10 sweeps for 11 min. each in 3 directions

Shock resistance

500m/s?,67 8 £3[E 518

Mechanical durability: 500m/s?, 3times each in 6 directions

RENBE

B

Degree of protection|

IP67(IEC 60529:2001)

Ffi5e IP67FHR (JIS C 0920:2003 f1E#1)
Oil resistance equivalent to IP67F (JIS C 0920:2003, Appendix 1)

Radiated magnetic
field strength

70—+ Type 4X, indoor use only
Type rating
5P 13.56MHz
Fregency
TGRSR &A 10dBuA/m GBI EHE10m)

maximum 10 dBuA/m at 10 meters

Mounting method

(12mmL EDRUEZEREEN,)
Two M2 screws
(Use a screw of 12 mm or more in length.)

] 7—2: PBT. Fe3gfi fE: wL4>
Material Case: PBT resin, Filled resin: Urethane resin

HE #1240g #390g #9760

Mass Approx. 240 g Approx. 390 g Approx. 760 g
WS HiE M4#aU. 2EFTE T} M41aU. 4ErTEL 1}

(12mm EDRUEZERLEEN,)
Four M4 screws
(Use a screw of 12 mm or more in length.)

Host communication

&S 47 12| EtherNet 10BASE-T/100BASE-TX

interface
Efp@fE7OhaL | EtherNet/IP™
Host communication
protocol
B MAREAE . ES SRR IPTRLZXEIANN
Accessory Instruction Seet: 1 sheet

IP Address label: 1 sheet

Description of Regulations and Standard: 1 sheet

3. BEDEZFFEREBE/Part Names and functions

B V680S-HMD63-EIP

LINK/ACT
NORM/ERR

NORM/ERR, NORM/ERR

NORM/ERR

B V680S-HMD66-EIP

(1) #5332 %/Connector

FEEREIX 7% (M12 A-Coding # X )/Power connector (M12 A-Coding plug)

EXNo.| &# AR

PIN No|Name Function IN/OUT
1 [24P [+24V -
2 |CONT| #lf#{§5/Control signal IN
3 [24N][ oV -
4 - N

—
e
-
T
ENo.| &R AR
PIN NoJName Function IN/OUT
1 TD+ / Ethernet send data + ouT
2 |RD+ / Ethernet receive datal+  IN
3 TD- | Ethernet i%{S-{5% / Ethernet send data - ouT
4 RD- | Ethernet 2{5-{55 / Ethernet receive data IN
NIIL) FG | FL—LF TR / Frame ground
Housing

B V680S-HMD64-EIP

o
NORM/ERR % {3

RF LINK/ACT

NORM/ERR
DI G
NORM/ERR /[5]
,
(2) By fEF/R4T/Status indicators
R BHE(E) B
Name Color Description
RUN AT (KR) U—E 714 EBICBEL TV BIBEICRITLET,
green Lighting while the Reader/Writer is operating normally.
BV R) | -7 E—FBIERICRIBLET, (1B M)
Flashing green| Flash while the Reader/Writer is operating in Safe
slowly mode.(1sec cycles)
BRI R) (V=S 1 2 REBIIE R F3F VT R—EDEDET T
Flashing green|—2Y> 7 DA% 72 MBI HICE WUET
quickly (200msEIHAD sik)
Flash quickly while the Reader/Writer in the boot
process or the Reader/Writer is waiting for establishing
the connection with the Originator.(200msec cycles)
AT () V=S 12N AL—T E—RTE{EL TOBRRICEATLE T,
vellow Lighting while the Reader/Writer is operating as
Slave mode.
S () | VS E 780 AL T E-RTREBES, $7e3 S5
Flashing yeilow| S222P57 7~ 2 7 DA 7> a ML RICER R
: HLEY (200msBEIHAD )
quickly Flash quickly while the Reader/Writer that operates as
Slave mode is in the boot process or the Reader/Writer|
is waiting for establishing the connection with the
Originator.(200msec cycles)
JHAT BRHHEL TV AVEEITHTLET,
Not lit Turn off when power is not supplied.
RF AT (%) RF2J EDZAEEERICRATLET
yellow Lighting during communication for RF Tag.
JHAT RF47 EXZIEEIEL TUVAWEEITHEITLET,
Not lit Turn off when not in communication with the RF tags.
NORM/ERR | sUT(R) | ZIEWE. ZOfth EAEEASDOIYNEIEBICIES
green TUIBHEIC—BRATLEY TS UTRAEE 1RSI, RF
STEDZEICHWTRIERE | e /HEIC1 AR
HTLET .
Lighting when the communications finish with no error.
When communications diagnosis is enabled, this
indicator will flash once each time a stable
communication is detected.
I (E) ISR EIHRER BRI, RF 27 EDZEICHWTIRZIER
yellow REJARALHEINBRATLET,
When communications diagnosis is enabled, this
indicator will flash once each time an unstable
communication is detected.
i (%) BUT—8) Y TEA LT INARELISH S ICRHLET
Flashing yellow| Flash when the Reader/Writer detects the Tag data
link timeout.
AT () ZEAIE, 2Ot AR PSNIV AN EREET U155
red BICTARATLEY . VAT LR B RERERITLET,
Lighting once when an error occurs during
communications with the host device, or during
communications with an RF Tag.
Lighting when unrecoverable error occurs.
s () THLPTRET S — Bl E T
Flashing red | (g xEUR %, HIBHESERIZLE)
Flash when recoverable error occurs.
(Configuration memory error, or Control signal wiring
mistake, etc.)
PRI (77) | I2ERSICRI Ry h T — T RICER T BIP7FL ADMEER AR
Flashing red | L7354 £/:12BOOTPH —/\»5DIP7RL RESALIE
imegularly | TREERHELABEICTARCHR AL ET. (1SAMET
100ms Mg 2ME)
Flash irregularly when the Reader/Writer detects a
device of duplicate IP address in the same network or
the Reader/Writer detects an error while getting IP
address from BOOTP server.(Flashes twice for
100msec in 1sec cycles)
JHAT FREOBEITHILET,
Not lit Turn off when the standby state.
LINK/ACT ST (88) Ethernet LINKIRREIZSUTUE T,
green Lighting during linking normaly.
S (%) Ethernet 7—SBISIRAEICRUTLET
Flashing green| Flash during detects a carrier.
8 Ethemets — 7L p EfEah CUWVARVB S ICTEITLE T,
Flashing green| Turn off when the ethernet cable is not connected.




4. 4\ f5~ti%/Dimensions
M V680S-HMD63-EIP

6L

WA 17020 4.5

7-EpfETRNAT
ion indi Two, 4.5-dia.
Seven, Operation indicators_ gg mounting holes
30 smms AL |
Standards label [IRiRI ] Bt
o [ 4
O[<F| T
ld r—JIVEEE
ﬁ — Cable fixture
¢ 18/18-dia. ) —
o = g JIL $8
© 8-dia.
< | (20.5) Cable
15!
19
Q
=]
O
S
15 7—9 $65|B
6.5-dia.
Cable
O
O
Q|
™~
S|
o]
3% 7 %#/Connector

3% 7 %#/Connector 14 5
4.9- dla 4 9 dla

Side A

(B fir:mm)

(Unit : mm)

B V680S-HMD64-EIP

7-Eh{EFIRUT

Seven, Operation indicators

[:%

Wﬁ H/\4 4.5

g7 AL

Standards label

(727.7)

15 ’T 7)Ir d>65m

Cable

75 Four, 4.5-dia.
\1\ 65 mounting holes
I 1
e DT
da N L [
A RPN
g—JIVEEE
[ H 4] Cable fixture
o
L =
2 o -+ érgj'» ¢8
-dia.
(20.5) Eﬁ Cabie
3| i ,a Himmqme
) 335 mounllng holes
K ==
N ‘r T ¢6
o 6-di
N
=)
¢ 6.5
& 65dia
~
=]
o

3% 7 %/Connector

M V680S-HMD66-EIP

|

(BAI:mm)
(Unit : mm)

7-EfERNAT
Seven, 6;;eration indicators W N4-¢4.5
40 120 Four, 4.5-dia.
110 mounting holes
B MR Z N 1
*: Standards label i U0 [
1
olo| || |
= ST =
‘ - I NEEL
i 5 Il 3] Cable fixture
E o [E:] .
o ™ =7 ¢8
A 205)[ ] &-dia.
~| E Cable
< % /08 mors s
g [ S =)
;§ S.dia. HIHW/\GMG
Lt ) 5 mounllng holes
» <
r=7I ¢$6.5 -
dada ® N ®6

00
e

Y
200

™~
=]
re}

3% 7 %/Connector

3% 7 %#/Connector

I=E|
15 Cable 3 {%; g:dla7 ”
I N i Cable
G.Sjﬁg 6
@ « ia. ia.

L, —HITERREGORBRL HEESNTVEY L TEVELTORIC
BB TOEAEZERL THT, SR UHERENSORBIERINSME
(I, Mt M RIS T— tﬂﬁafté\,‘f:biﬁh et J (= ?Eﬁéﬁﬁ;ifﬁbf

R0, %
b EAJN BB RV

LSh B (Bl J'?%?Jﬁ%ﬂnzfr‘*
B fif, EFEE. R KE.,

P LR (A - Kl B DBHRS X7 L, 24B RS E SR
YRT I RESRT LEHHER B EE BRSO AR L)

(c) LV EARETORE (BLBINHE T 3. ALFRBRER SRR,
BHAHREWD K. KD HRERBHMELL)

HOLVEIEPIIETOAR

“(apS(d)CERHEh WA AHEOT ERLRHOERIEAEE (CHEST, TR
L) BTSN EL A ABIEICHER T SAEICHFIALAVWTT A, BEIEIEH
FRAGRIC DV T M B EI8 M (CTH &,

CERGEEEROERMEN—EBTT YOI BEHEZOT, F—2—NERHIR
DHEOT RZaTINCBHORE - CHBBEOARE LA TIERSEN,

ALOVRIKEAL 40P V-br-yak 3 an1iz-

ORAZIETIBMVEDESE
&@ﬁ#ﬂ:ﬁg

E3:0120-919-066

HHTEEPHS IPEFELE TRIFBVLLTELANDT, FROBTEESABPILE,

B5% 055-982-501 5 camsimnnvzs)

WEEER : 8:00~21:00 WE%A 3658
OFAXPWebN—3 THBHVADE VT E T,

FAX 055-982-5051 / www.fa.omron.co.jp

@ TNMDHMVAhY
A - flAE - Y70 EREIEHOBMEI%, T3 EY
#HYAF LOERFERICTHER 280,
74 L0 2 HIERBIREE P 4 A0 CBRERAIE. WebN—T T
CERALTVET,

AW 2014%78

Suitability for Use

Omron Companies shall not be responsible for conformity with any standards,
codes or regulations which apply to the combination of the Product in the
Buyer’s application or use of the Product. At Buyer’s request, Omron will
provide applicable third party certification documents identifying ratings and
limitations of use which apply to the Product. This information by itself is not
sufficient for a complete determination of the suitability of the Product in
combination with the end product, machine, system, or other application or
use. Buyer shall be solely responsible for determining appropriateness of the
particular Product with respect to Buyer’s application, product or system.
Buyer shall take application responsibility in all cases.

NEVER USE THE PRODUCT FOR AN APPLICATION INVOLVING SERIOUS
RISK TO LIFE OR PROPERTY WITHOUT ENSURING THAT THE SYSTEM
AS A WHOLE HAS BEEN DESIGNED TO ADDRESS THE RISKS, AND
THAT THE OMRON PRODUCT(S) IS PROPERLY RATED AND INSTALLED
FOR THE INTENDED USE WITHIN THE OVERALL EQUIPMENT OR
SYSTEM.

See also Product catalog for Warranty and Limitation of Liability.

OMRON Corporation  Industrial Automation Company
Tokyo, JAPAN Contact: www.ia.omron.com

Regional Headquarters

I OMRON EUROPE B.V.
Sensor Business Unit
Carl-Benz-Str. 4, D-71154 Nufringen, Germany
Tel: (49) 7032-811-0/Fax: (49) 7032-811-199

Il OMRON ELECTRONICS LLC
2895 Greenspoint Parkway, Suite 200
Hoffman Estates, IL 60169 U.S.A.
Tel: (1) 847-843-7900/Fax: (1) 847-843-7787

Il OMRON ASIA PACIFIC PTE. LTD.
No. 438A Alexandra Road # 05-05/08 (Lobby 2),
Alexandra Technopark,
Singapore 119967
Tel: (65) 6835-3011/Fax: (65) 6835-2711

Il OMRON (CHINA) CO., LTD.
Room 2211, Bank of China Tower,
200 Yin Cheng Zhong Road,
PuDong New Area, Shanghai, 200120, China
Tel: (86) 21-5037-2222/Fax: (86) 21-5037-2200

D(® Oct, 2014




